
There are 5 marbles in a bag.

Ron has 10 bags of marbles.

He puts 1 more marble in each bag.

How many marbles are there in total 

now?

Work out the missing digit.

A toy train costs £4 more than a 

rocket.

The train costs £15

How much does the train and the 

rocket cost in total?
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Marbles are put into bags of 10

• 67 bags of marbles are packed.

• 3 more marbles are added to 

each bag.

How many marbles are there in 

total now?

Work out the missing digits.
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A toy train costs three times as 

much as a rocket.

The total cost of the train and 

rocket is £52

How much does the train cost?
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